Bridge at the Lunatic Fringe --  Number 3 – 

Second hand Play, Part One
With this article, I’ll begin a series cataloguing the exceptions to the well-worn bridge maxim “second hand low”, which is often a good guideline for the defenders, consistent with the principle that high cards are meant to capture other high cards.  A standard example:

Dummy:   Kxx

LHO:  A 10 x


RHO:  J xxx


Declarer:  Qxx
When declarer leads low toward the King, LHO should NOT play the Ace, but a low card.
Playing the Ace gives declarer two tricks in the suit.  Instead, play a low card, and keep the Ace over the Queen.

Exception one:  Splitting honors
This is a rather well-known exception to the 2nd hand low guideline, making sure making sure when you have a sequence of high cards that declarer does not “steal” a trick with low card.   With J109x, play a high card in 2nd hand when a low card is led from either dummy’s or from declarer’s hand.
The choice of which honor card to play is a matter that has undergone some change in thinking.  The old-fashioned method was to play the lowest of touching honors when splitting, i.e. the 9 from the J109x holding.  Many players have now adopted the more modern treatment of splitting by playing the highest of touching honors, i.e. the Jack.  
The reason for this is that it helps partner to place declarer’s high cards.  Consider:


Dummy:  xxx

Partner:  xxx

You:  J109x


Declarer:   A??
A low card is played from dummy.  You split by playing the 9, and declarer wins with the Ace.  From partner’s point of view, you could be splitting from J109x,  QJ109x, or even KQJ109.  Whereas, if you split by playing the Jack, partner knows that declarer also has the K and Q of this suit.

Note that this only applies in 2nd hand.  When splitting in 3rd hand, always play the lowest of touching honors.

Exception two:  Destroying transportation to the dummy

Exception two to 2nd hand low is intended to destroy transportation to the dummy.  One such situation is the following layout of a critical suit, where dummy has no outside entries:




Dummy:


A J 10 9 x

LHO:



RHO:
Kxx



Qxx



Declarer:



xx

If LHO plays 2nd hand low when declarer plays toward dummy, declarer will finesse, allowing RHO to win the Queen, but then a 2nd finesse of the King brings the whole suit home.  If RHO holds up the Queen, it also prevents the run of the suit, but gives declarer an extra trick.
Instead, LHO should play the King on the first lead, preventing the run of the suit, and holding declarer to one trick.
It was knowledge of this expert 2nd hand play that undid Cecil Horne on a rare occasion when he played at the club, filling in for Professor Lobochevski who was off on a trip to Patagonia.  Warren agreed to play with Cecil as big favor to his boss, hoping to strengthen the ties between their respective firms (Obviously, the boss was not a bridge player).  

Cecil was a brash, obnoxious loudmouth, much impressed with his own bridge abilities.  He constantly brought up hands where he had gotten the better of some well-known expert.  But among the best players, he was best known for making the “expert” play at the most inopportune time, often yielding an “impossible” result.  This hand was the perfect example:
Majorca (North)



S  8 4



H  8 5



D  J 8 7



C  A J 10 9 5

Cecil (West)

Warren (East)

S  Q 7 3


S   J 10 6 5 

H  K 7 6 4 2


H  Q J 10 3

D  9 5 



D  10 6 4 3 2


C  K 7 4


C  Q



Minna (South)

S  A K 9 2



H  A 9



D  A K Q



C  8 6 3 2

The bidding was a straightforward 2NT opening by Minna, raised to 3NT by Majorca.

After a standard heart lead, it would seem that the contract is doomed.  Declarer has only 7 tricks off the top, and must establish club tricks to have any chance of making the contract.  But once the defense gains the lead with a club, they can run four heart tricks, for down one.  

But this was Minna’s lucky day.  Although she was often intimidated by Cecil, she played this hand as if she didn’t have a care in the world.  Seeing no point in holding up the Ace of Hearts, she won the first trick and immediately put a crafty eight of clubs on the table.
With a great flourish, Cecil slapped down the King of clubs, recognizing the opportunity to stop the run of the club suit.  He also felt surely that Minna had a second heart stopper.

With only the Ace, wouldn’t she hold up? 

As Minna won with dummy’s Ace of clubs, and Warren produced the Queen, Cecil’s transformation from triumph to tragedy was a sight to behold.  He actually began to whimper.  Warren’s comments were small consolation.  “Only a true expert could allow declarer to make two overtricks in a contract that was surely headed to defeat.”
Answers to bridge quiz in last issue  (which have absolutely NO practical bridge value):

1. The fewest number of high card points that a partnership can have and be ice cold for 3NT is 15.  One suit with a 12-card fit, missing only the King, and 7 or more running tricks.  Two more aces.  The fourth suit protected by declarer or dummy having five cards to the 10, 9, (and 8 if needed).  Defense may be able to take 4 tricks in this suit, but once in, declarer has his 9.

2. The fewest number of high card points that a partnership can have, and be able to make 3NT due to an absurdly favorable lie of the opponents cards is 7 HCP.  Declarer has 9 running tricks in an 11 card fit, with the K and Q dropping singleton.  
The hand on opening lead consists of a 10 card suit, missing only the Queen.  Other 3 cards are 2 singleton aces (or AK and a void), along with the singleton K or Q in declarer’s running suit.  

Declarer or dummy’s only other points are Q third in the leader’s 10 card suit.
Suits are blocked and the hand on opening lead can take only 4 tricks before declarer runs his nine.

Minna’s comment on seeing this hand was “How silly!  Even if the opening lead hand had ‘overbid’ to 6 of her suit’, it would still be a great sacrifice against a cold 3NT!”

